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R02 |R03 [R04 [ROS5 [RO6

A02-001 1 L=1,750m " | = 66
A02-002 -4.5m  L=440m u 30
A02-003 -7.5m B L=260m "= 30
A02-004 -5.5m  L=360m "= 30
A02-005 1 L=27m u 98
A02-006 -13m  -10m "= 42

N=1




R02 |R03 [R04 [ROS5 [RO6

A02-007 -10.0m  L=370m | . 27
A02-008 L=235m | . 225
A02-009 12 +0m  L=85 | . 66
m
A02-010 ~2.0m L=229m | . 33
A02-011 L=6,527m | . | . | | | 27|
A02-012 2 -2.0m L=100m . 10
A02-013 -5.5m V=33,000m3 | . 63




R02 |R03 [R04 [ROS5 [RO6

A02-014 -3.0m L=190m . 15
A02-015 ~3.0m V=24,800m3 e 66
[ L[] e2s |
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R02 RO3
@ 50 176

(b) 0 0

(c=a+b) 50 176
(d) 0 25

e 25 128

® 25 73

10 26

(h = c+d-e-f) 0 0
(1 = (gth)/(ctd)) 20 12.93
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